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1 Linear Regression
In this section, we will consider the following linear regression model:
For each data point in D = {(x;, ;) }l-,,
y; = wlx; + € where y;, € € R and w, &; € R
In matrix notation, we can express this linear relationship for all data points as:

y = Xw+ ewhere y,e € R", X € R and w € R*™!

1.1 Ordinary Least Squares (OLS)

In class, we saw that one way to optimize w is to minimize the least squares error:
wi = argmin [y — Xl
= argmin(y — Xw)” (y — Xw)
w
1. Derive the least squares optimal solution wyjgq. You may assume any matrix inversion

that naturally appears is possible.

2. Now let us consider the following: In general, when we have some matrix A € R™*" and
b € R", the orthogonal projection of b onto the column space of A can be done using
the projection matrix A(ATA)"'AT. With this in mind, what can we say about w;g?
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2 Gradient Descent

Gradient descent (GD) is one of the most commonly used optimization algorithms in machine
learning. Here we will go over 1) why we are using gradients in the first place and 2) why
stochastic gradient descent (SGD) works.

2.1 Gradient Points in the Direction of Steepest Ascent

In class, we saw a pictorial sketch of why gradient descent makes sense; we will discuss it
more formally here.

One way of thinking about this is that for a differentiable multivariate function f : R? — R,
the gradient at point & € R? (i.e. Vf()) points in the direction of steepest ascent at x.

Recall from calculus that we define the directional derivative with respect to some unit vector
u € R? as

Duf(@) = i (@10 = S12)

In words, the directional derivative describes how the function value instantaneously changes
if we step along the direction of w from point . With some calculation, one can show that

Dy f(z) = u"Vf(z)
= ||ul]|||V f(2)|| cos b (-.- inner product)

where 6 is the angle between u and V f(x). We know ||u|| = 1, and it is easy to see that
when 0 = 0, D, f(x) is maximized.

Thus, at each point, we should step in the direction of the gradient to maximally increase
the function value (gradient ascent). Meanwhile, we should step in the direction opposite of
the gradient to maximally decrease the function value (gradient descent). Whether we want
to use gradient ascent or descent will depend on whether we want to maximize or minimize
some objective function.

2.2 Stochastic Gradient Descent

In lecture, you are introduced with the concept of gradient descent (GD). However, the
stochastic gradient descent (SGD) is more common in practice than the vanilla GD, as the
gradient updates in SGD are computationally cheaper when working with large datasets but
still lead to good, generalizable solutions (often even better). An in-depth discussion of SGD
is beyond the scope of this course, but here we will see why it makes sense at a high level.

Suppose we have some ML model (e.g., linear regression, logistic regression, neural network)
and we want to optimize the parameters w of that model using data D = {(x;,y;)} ;. And
let’s say that our loss function is

1 n
Etotal = E Z ,C(QJZ, yz)

=1
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which is an average of the loss £ for each data point (x;,vy;) across our dataset.
Now, we want to use the following SGD algorithm to iteratively update wy:

1. Randomly sample (without replacement) m indices from {1,...,n}. Call the set of
sampled indices B.

2. Calculate the loss using the sampled data points
L= 30 Llxiy) 1[i € B
——
indicator
L
3. Update w1 < wy —ngz
Based on this setup, answer the question below.

1. In statistics, the bias of an estimator (or bias function) is the difference between this
estimator’s expected value and the true value of the parameter being estimated.

A

Bias(,0) = E,p0 — 6]

An estimator or decision rule with zero bias is called unbiased. Show that the stochastic
gradient is an unbiased estimator of the gradient, i.e. show that:

oL

ow

o
- Qw

(Hint: E[1[i € B]] = p(i € B). Also check out the remark below if you need better
intuition.)
Remark: Randomly choosing the data points for updating the parameters at each iteration
is what makes SGD stochastic. Try comparing % and %; you should notice that since we

are only using a random subset of all of our training points to calculate the gradient, g—i can
be thought of as an approximation of 3—5).
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3 Naive Bayes

3.1 Review

Simple probabilistic classifier most commonly used for text classification. Called Naive
Bayes because it applies Bayes Theorem with a naive assumption of conditional indepen-
dence: features in X = (Xi,Xs,...,X,) are conditionally independent given the label
Y = {1,2,...,k}, where k are the number of classes. The Naive Bayes model assigns
probabilities p(Yx|X) for each class k.

p(X|Yp(Ye)  p(X,Yk)  p(Xy,Xo, ..., Xg,Yr) aves Thin
p(Yi|X) = 0 X 9 . by Bayes Th

(X1, Xoy ..o, Xa, Vi) = p(X1| Xo, .o, Xa, Yi)p(Xo, . .o, Xa, Yi) = p(Xa | )p(Xa|) ... p(Xa| Vi)

After chain rule, apply naive assumption all features in X are conditionally independent,
given the label Y.

(Xl Xit1, .-, Xa, Vi) = p(Xi| Vi)

d
T] s, (]rk‘)f) p( k> ) pE k

)
b~ o) L)

i=1

3.2 Simple Example

Suppose that there are d binary features (Xy, Xo,..., Xy). Assume d is even. Consider the
following pairing of the d features:

(XlaXQ)a (X37X4)7 SR (Xd—laXd)

For each of the above pairs (X;, X;11), assume X; and X;,; are dependent. However,
assume the 2 pairs (X;, X;41) and (X, X,41) are themselves independent when i # j given
the class.

If the class-conditional distribution of each pair of features is known (as well as the class
prior), is it possible to construct a classification algorithm using the Naive Bayes approach?
If it’s possible, how would you do it? If it’s not possible, why is it not?

3.3 Gaussian Contour Plots

For a one-dimensional Gaussian, the probability density looks similar to bell curve. For
a two-dimensional Gaussian, if both coordinates are independent of one another then the
density concentrates in circles. If the two coordinates are not independent, then the density
will look elliptical like in the figure above.
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For each dataset below, determine if the Naive Bayes assumption is valid. Assume that the
data given the class label is distributed as a multivariate Gaussian.

LR}
o

Feature 2
Ed
Feature 2

Feature 1 Feature 1
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3.4 Exam Style Practice Problems

1. In a Naive Bayes problem, suppose we are trying to compute P(Y|X1, Xo, X3, Xy).
Furthermore, suppose X, and X3 are identical (i.e., X3 is just a copy of X5). Finally,
assume X is not independent of Y. Which of the following are true in this case?
Select all correct answers.

(a) Naive Bayes will learn identical parameter values for P(X3|Y") and P(X3]Y).
(b) Naive Bayes will predict P(Y'| X1, Xo, X3, Xy) < P(Y| X1, X2, Xy).

(c¢) Naive Bayes will predict P(Y| X1, X2, X3, X4) > P(Y| X1, Xo, Xy).

(d) None of the above

2. Gaussian Naive Bayes, in general, can learn non-linear decision boundaries. Consider
the simple case where we have just one real-valued feature X; € IR from which we wish
to infer the value of label Y € {0,1}. The corresponding generative story would be:

Y ~ Bernoulli(¢)

Xy ~ Gaussian(,, 0;)

where the parameters are the Bernoulli parameter ¢ and the class-conditional Gaussian
parameters fig, 02, ji1, 07 corresponding to Y = 0 and Y = 1 , respectively.

Consider a linear decision boundary in one dimension described by the rule: if X; > ¢,
then Y = 1, else Y = 0, where c¢ is a real-valued threshold. Is it possible (in the 1D
case) to construct a Gaussian Naive Bayes classifier with a decision boundary that
cannot be expressed by a rule in the above form? Select all correct answers.

(a) Yes, this can occur if the Gaussians are of equal means and equal variances.

(b) Yes, this can occur if the Gaussians are of equal means and unequal variances.

(
d

(e) No, it is not possible.

¢) Yes, this can occur if the Gaussians are of unequal means and equal variances.
) Yes, this can occur if the Gaussians are of unequal means and unequal variances.

Y=0 Y=1

I X1

If X1>C then Y=1, else Y=0
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4 MLE and MAP

4.1 Definitions
e Likelihood: £(0) = P(D|#) and [(0) = log P(D|6)
o Posterior: P(0]D) = “5e8® o P(D|6)P(0)

e MLE estimate: 0y p = argmax, P(D|0) = arg max, log P(D|0)
e MAP estimate: 0y,4p = argmax, P(D|0)P(0) = arg max, logP(D|0) + log P(0)

4.2 Gaussian MLE

Given that we have ii.d samples D = {x1,...,xy}, where each point is identically dis-

tributed according to a Gaussian distribution, find the MLE for the mean and variance.
(@=p)?
1 -t

Hint: p(z|p, o) = pvore
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